PROBABILITY

Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non-Calculator) Higher Tier

1.
14 0.42 P1 for appropriate multiplication Probabilities could also be given in
eg 0.3 x0.7(=0.21) or 0.3 = 0.1 (=0.03) or 0.3 = 0.6 (=0.18) fraction or percentage form
P1 (dep) for complete process
eg03x07+07%030r03x01+03x06+06x03+0.1%03
Al oe Acceptable equivalents are 42% or A4z
100

oe

Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

2.

11

Yes
(supported)

Pl

Cl

for process to find number of combinations, eg 5 = § oe (= 40)
or for 240 + 5 (= 48) or 240 = & (= 30)

or for 240 + 5+ 8(=6)

or 5% 8 xx=240

Yes and 6

Pearson Edexcel — Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

3.
20 (a) Shown M1 . n
for
n+8
or starts to work with ratios, eg 3:7
M1 forms equation and clears fractions,
eg 10n=Tn+56 or 10n+3(n+8)=10(n+8)
3 8 3 8
or equates — =— of —=——
10 x 10 n+8
or continues to work with ratios, eg 3:7 = 24:56
Cl

: 80 n 56
gives the total sweets eg -—3-}— oe or number of red sweets n = —; oe
i 5 56
or gives number of red as ?

OR award 3 marks for a complete written argument,

3
eg, P(y)= ﬁand there are & yellows. This cannot work as 3 is nota

3
factor of 8 (and E is in its simplest form)

 f—
Does not have to restate the -IE sgiving a

different probability will suffice




(b)

Pl

Pl

P1

Pl

Al

N n n-1
for and oe
n+8 n+7

n n-1 3
X —.

forms an appropriate equation, eg -
n+8 n+7 5

for correctly forming a quadratic ready for solving,
eg an’ + bn+ ¢ (=0), 2n* = 50n — 168 (= 0), n* = 25n— 84 (= 0) oe

process to solve quadratic equation, ft a 3 term quadratic
factorising eg (n + 3)(n — 28) (=0) oe or completing the square
or correct use of formula

——25+25"—4x—-84 ——50++/50"—4x2x—168

2x2

eg

0
[

Note we do not need to see “= 0"} just the
LHS is sufficient.

Award 0 marks for a correct answer with no
supportive working.

Pearson Edexcel — Monday 8 June 2020 - Paper 3 (Calculator) Higher Tier

4,

8

Pl

Pl

Al

for start to process of working out the unknown probabilities,
eg 1 =032 -0.20(=048)

or assigning probabilities as 5x and x

or process to work out the number of blue or green counters,
eg 0.32 = 300 (= 96) or 0.20 = 300 (= 60) or 0.52 = 300 (= 156)

for process to find the probability,

eg Sx +x="0.48" or “0.48" - 6 (= 0.08)

or process to find the number of red or yellow counters,
eg 300 — “96” — “60™ or 300 x “0.48"

Award for P(R) + P(Y) = 0,48, may be scen in
table

Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Higher Tier

5.

04,04

60

P1

Al

P1

Al

for process to find sum of unknown probabilities, eg 1 — 0.2 (= 0.8)

og

for complete process to find total number of cubes,
eg 12+ 020r 12 x5 or (“0.4" = 0.2) x12 4 (*0.47 + 0.2) x12 + 12

OR states 0.1 =6 or 0.4 =24

cao

Award mark for any two probabilities given that
sum to 0.8, eg given in the table

Accept any equivalent fraction or 40%

Pearson Edexcel - Tuesday 21 May 2019 - Paper 1 (Non-Calculator) Higher Tier

6.




Pl

Pl

Pl

Pl

Al

Pl

Pl

P1

Pl

Al

for process to find a relationship between rand g
g 3,83
r+g 7 ro 4

for process to find a second relationship between r and g
g8t _6  g+3 6

Tor+2+g43 13 r+2 7
(dep P2) for start to process of solving pair of equations, eg eliminates
one variable from the equations or removes fractions from both
equations
(dep P3) for complete process to solve equations to find g or r
cao
OR

fortwoof 3x+ 3, dx+2and Tx+ 5

l__"uc+_‘. i
Tx+5 13

(dep P2) for removing fractions from the equation,
eg 13(3x + 3) = 6(7x + 5) or 39x + 39 = 42x + 30

(dep P3) for complete process to solve 13(3x + 3) =6{Tx + 5)

cao

Pearson Edexcel - Thursday 6 June 2019 - Paper 2 (Calculator) Higher Tier

7.
17 (a) Explanation
(b) 23

Pl

Pl

Al

For stating the LCM of (4+7) and (5+3) is 88 or there is no smaller
multiple of 8 and 11 (than 88)

for using a scale factor appropriately eg 4 = 8 (=32) or 3 = 11 (=33)
or 7= 8 (=56)or 5= 11 (=55)

7 3 4 5
or for writing a pair of suitable fractions, eg — and = or — and =
11 8 11 8

3
or = and i
11

8

for finding the number of large cubes and red cubes or small and yellow
or small and red

eg 7 * 8 (=56)and 3 = 11 (=33)or 4 = 8 (=32) and 5 = 11 (=55)

ord =& (=32)and 3 = 11 (=33)

3 5 4
OR a suitable fractional equation, eg ——x=— or — —x= —
11 8 8 11
3 4
orx=]-———
8 11
OR a smtable pair of probabilities with a common denominator,

-
t:gicil'ldglir'%—_:arlclgnrﬁa.nd£

88 88 88 B8 B8 88

May be seen in a two-way table or probability
tree

May be seen in a two-way table or probability
tree

E scores P2ZA0
88

Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier

8.




Pl

Pl

Pl

Pl
Pl

Al

X x+3
for a relevant probability, eg P(green) = or P(blue) =
2 P y. eg Ple ) 2x+3 ( ) 2x+3
for a relevant product,
w X owmX el X3, X2,
gg. — X' — " of —— K ——
2x+3 2x+2 2x+43 2x+2
i ( x ..)2 ” ( x+3 .,)3 _ 27
x+3 2x+3 75
forms an appropriate equation,
w X -1 & w XE3 xE2 27
e e N = o
Ixtd  2xt2 2x+3 2x+2 55

(dep P3) process to reduce equation to ax” + bx + ¢ =0
eg. ¥’ —25x + 84=0

process to solve quadratic equation
eg. (x—21)}x—4)=0

cao

the number of green and blue pens could be x -3
and x or equivalent

probabilities must be in an algebraic form in a
single variable

This is an exception using replacements. No
further credit is available

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier

9.
16 ) (a) 0.4-155. Ml” . — -_ . 91 Could be shownnonn-a-tré;e diaén;lrr; Eut must show

for 0.65 = (1 — 0.65) or 0.65 = 0.35 (=0.2275 ormj or2 = 0.2275 oe an intention to multiply

Al
¢ Acceptable equivalents are 45.5% or % oe

(b) 42 Ml for a start of the process eg 78 = 0.65 (= 120) or 78 x 0.35 (=27.3) 78x035 78 .o
0.65 0.65
Al cao

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier

10.
16 0.12 Pl for process to start Just 1 —0.2 = 0.8 is not sufficient for P1

eg(1-02)+=(3+17) (=0.04)
or (34 17)+(1-02)0e(=25)
or (100-20)+(3+17) (=4)
or3 x4 (=12)and 17= 4 (= 68) May be seen in a ratio

Pl full process to find the required probability
eg 3 = “0.04” or 'JJTJ #(1-02)oe or 3 =257 0or 3 =47 = 100

Al oe 0.12 using incorrect probability notation

gets P2

Pearson Edexcel - Thursday 7 June 2018 - Paper 2 (Calculator) Higher Tier

11.




22

Pl

P1

Pl

Al

for a process to find a first value
eg male/Britain=32-11 (=21)
or Italy/total = 60 — (32+12) (=16)
or female/total = 60-38 (=22)

for process to find a secondary value,
eg male/Spain =38 — (217 + 8) (=9)
or female/Italy =167 -8 (=8)

complete process to find female/Spain,
eg 12-%97 or “227 — (11 +“87) (=3)

oe accept0.136to 0.14

]
SCB3 fora

Br |Sp |[It Tot
M 21 |9 8 38
F 11 |3 8 22
Tot |32 |12 |16 |60

May be seen in a frequency tree
Values attributed to a category or from
method seen

Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier

12.
6 (a) 8 Pl for process to find sum of unl.(nown probabilities, Award mark for any two probabilities
eg 1 -045-025(=03) given that sum to 0.3 eg given in the
OR to find the total number of counters in the bag, eg % (= 40) table.
OR to find the number of yellow counters, eg % = 18 (= 10)
Pl for process to find P(red) = 0.2 oe or P(white) = 0.1 oe Award P2 for P(red) or P(white) (could
be shown in table)
OR for process to find the total number of red and white counters, eg
“40” — 18 - “107 (=12)
Equations could be given as written
OR for process to derive an equation in x, statements or working but must be fully
eg2x +x=1-045-0250r 2x +x="0.3"orx =0.1 equivalent.
Pl for a complete process to find the number of red counters,
2x0.1 | PR o 0.2
Sy 18 OF 5% 127 0r 0.2 = “40” or T
Al cao
(b) Explanation Cl for explanation

eg 0.5 multiplied by an odd number will never be a whole number, for
half of a number to be an integer that number must be even, you can’t
have half a marble

Pearson Edexcel - Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier

13.
20 6 P1 for start to process information, eg draws Venn diagram and shows at See Venn Diagram at end of mark
490 least 1 unknown amount, eg 5 speak German and Spanish but not scheme — rectangle not needed
French
Pl for process to find at least 3 unknown amounts from,
eg 5 speak German and Spanish but not French
3 speak French and German but not Spanish
22 speak French but not German or Spanish
0 speak German but not French or Spanish
Pl for complete process to find number of people who speak only Spanish | Award first 3 marks to students who
(=6) show this on the Venn diagram or in a
statement.
Pl i [Pomber spoaking Spanishonly] . [mambicr speaking Spanish anly] —1 Award this mark for use of their number
i B 0 - ’ of students who speak Spanish. Must be
L iy a clear link, eg from Venn diagram
Al o ne See note 8 in general marking guidance

but 0.01 or 1% must be from seen correct
working.




Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier

14.
4 1 Pl for starting the process, eg by writing down a correct ratio or using a given number of
1 cubes for one relationship, eg 2B 1Y or B:Y =2:1 or 4G 1B

or G:B=4:1 or 8G, 1Y or G:Y = 8:1 oe
or yellow = 2, blue = 4, or states 2:1:8 oe in any order (can be algebraic)

Pl for complete process to find possible number of each colour or equivalent ratio, eg 8G
2B 1Y or G:B:Y = 8:2:1 oe
or yellow = 2, blue = 4, green = 16 oe (can be algebraic)

Al 1

— 0

Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier

15.

15 (a)

(b)

66

No with reason

Cl for “no” with reason, eg Tracey should multiply 8 and 7

M1 for starting a method to find number of games played, eg 12 = 11 (= 132)

or sum of integers from [ to 11

Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier

16.
21 (a) 1 M1 4 3 2
— O = % = X —
55 12 11 10
Al .1
for — oe
55
(b) Conclusion Cl starts correct argument, eg by calculating a relevant probability,
5 4 3
(supported) of = X e x
15 14 13
Cl statement of “more likely” from eg comparison of probabilities, ft answer to (a)

1 2
eg E (=0.018..) and; (=0.021._.0r0.022)

Pearson Edexcel - Wednesday 8 November 2017 - Paper 3 (Calculator) Higher Tier

17.
10 (a) 0.05 Bl for 0.05 oe
(b) 20 Cl for stating that at least 20 required
Reason Cl for reason eg explains that number of each colour must be a whole number or that there

must be (at least) | red counter or shows that 0.05 = E

Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier

18.




17 28 Pl 6 2 7 1 . .
== for —or —or —or— oe seen on diagram or in a calculation
72 38 8 8 ¥
Pl 2.7 14 L7 6 2 1 42 2 44
for — * —or == —or — oe for —= —or =% —or —or — or —oe
8 9 8 72 g 72 72 M2
Pl 2.2 7 . 7 6 2 1 42 2
for = x =+ =x = for | —( == =+ == =jor | - ("—"+"
8 9 8 9 8 9 8 72 72
W14, 14 w44,
or"—"+"—"o¢e orl-"—"oe
72 72 72
Al oe
SC BI for 14 B2 for 8
81 81
Pearson Edexcel - Thursday 8 June 2017 - Paper 2 (Calculator) Higher Tier
19.
1 98 Pl for process to find P(1), eg. 1 —0.17-0.18 - 0.09 - 0.15-0.1 (= 0.31) or for a process to

find P(1 or3),eg. 1 —-0.17 —0.09-0.15-0.1 (= 0.49)
Pl for process to find the number of 3s eg. 0.18 = 200 (=36)
or process to find the number of 1s, e.g. P(1) = 200 (= 62),

or process to find the number of (1 or 3)s, eg [P(1) + 0.18] = 200

or for process to find any expected frequency using any probability = 200

eg. 0.17 = 200
Al cao

OR
Pl for process to find P(2or4 or S or 6), eg. 0.17 + 009+ 0.15+ 0.1 (=0.51)
Pl for process to find the number of (2 or 4 or 5 or 6)s, eg. “0.517 = 200 (= 102)
Al cao

Pearson Edexcel - Specimen Papers Set 2 - Paper 1 (Non-Calculator) Higher Tier

20.

16

Events Cl
independent

Statement that events are independent

Pearson Edexcel - Specimen Papers Set 2 - Paper 3 (Calculator) Higher Tier

21.
22 (a) chain of Cl p I t oroduct ¥ 5
i or a relevant product e x
reasoning P & y+5  y+4
Cl ) y 5 6
for a correct equation eg 2x| ——x = —
y+5 y+4 11
Cl for method to eliminate fractions from algebraic
expression
Cl complete chain of reasoning
(b) 3 M1  method to solve equation eg (ax + b)(cx +d) with
M ac =3 and bd = £60
Al for selectingy =6
Al
for — oe
11




Pearson Edexcel - Specimen Papers Set 1 - Paper 1 (Non-Calculator) Higher Tier

22.

Pl
Al

begins process of subtraction of probabilities from 1
oe

Pearson Edexcel - Specimen Papers Set 1 - Paper 1 (Non-Calculator) Higher Tier

23.
6 (a) Sharif Bl Sharif with mention of greatest total throws
(b) No P1 starts working with proportions
(supported) | Al Conclusion: correct for Paul, but not for the rest; or ref to just Paul’s results
Pl selects Sharif or overall and multiplies P(heads)>P(heads) eg ¥4 x %
(c) Tot: H300 9 Al oe
T 100 16

Pearson Edexcel - Specimen Papers Set 1 - Paper 1 (Non-Calculator) Higher Tier

24.
2 102~ ¥ for Zor D o =t or L or X or = seen on diagram or in a
45 10 10 9 9 9
calculation
Pl x 10-x 10-x_ x X 1, 10-x 9-x
for —x or X = for —x EE x
10 9 10 9 10 9 10 9
P1 - -x - - -
rm_ixlﬂ x , 10-x x ﬁ)rl—(iXx 1,10-x 9 %
10 9 0 9 0 9 10 9
Pl  (dep on P3) for beginning to process the algebra
Al 10x—x"
oe
45

Pearson Edexcel - Specimen Papers Set 1 - Paper 3 (Calculator) Higher Tier

25.
18 0.49 Pl for v/0.09
P1 for (1-"v0.09")
Al cao

Pearson Edexcel - Sample Paper 1 - (Non-Calculator) Higher Tier

24 25 P1 For process to start to solve. Eg use of x and 4x or x/5x and 4x/5x
Pl ; x x-1 6
process to form equation eg —x -
5x Sx-1 155
P1 Processes to eliminate fractions and reduce equation to linear form

eg. 155x = 155 = 150x - 30

Al




Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier

27.

12 (a) | Draws correct Venn diagram

44
50

44

M1 Begin to interpret given information e.g. 3 overlapping
labelled ovals with central region correct

M1 Extend interpretation of given information e.g. 3 overlapping
labelled ovals with at least 5 regions correct

M1 Method to communicate given information e.g. 3
overlapping labelled ovals with all regions correct including
outside

Al oe

| P17 For correct process to identify correct regions in Venn |
diagram and divide by '44'
Al

Pearson Edexcel - Thursday 26 May 2016 - Paper 1 (Non-Calculator) Higher Tier

28.

Ml for 1-
M1 for a complete method to find the number of female teachers (54)
eg 36 + 2 %3 or determines %(60%) is 54, or 10% 1s 9

Al cao

OR
MlforF:M=3:2

MI for a complete method to find the number of female teachers (54)
3
eg —x360e
£2
Al cao

Pearson Edexcel - Thursday 9 June 2016 - Paper 2 (Calculator) Higher Tier

29.

4689
123579
04688
13668

e L b —

(b)

— 0¢

20

B2 for correct ordered stem and leaf

(B1 for fully correct unordered, or ordered with one error or omission)
BI (indep) for key (units not required but must be correct if stated)
eg. | | 4 = 14 (marks)

9
B2 for ﬁoe or ft from stem and leaf diagram

(Bl for % where x < 20, x # 9 or 2 where y > 9 or ft from stem and leaf diagram)

Pearson Edexcel - Thursday 9 June 2016 - Paper 2 (Calculator) Higher Tier

30.




0.09, 0.36

MI for | —0.4—0.15 oe (= 0.45) or 100 — 100=0.4 — 100x0.15 (= 45)
MI for (1-0.4-0.15) +5(=0.09)

or (100 — 100=0.4 — 100=0.15) = 5(=9)

Al for 0.09 and 0.36 oe

OR

MI for 0.4 +0.15 +x + d4x =1
Ml forx=(1-04-0.15)+5
Al for 0.09 and 0.36 ce

[SC: BI for 0.162 and 0.648 if MO scored]

Pearson Edexcel - Wednesday 4 November 2015 - Paper 1 (Non-Calculator) Higher Tier

31.
4 (a) 60 2 MI for 200 = 0.3 oce
Al cao
() 0.1 2 M1 subtracting sum of probabilities from 1, e.g. 1-(0.3+0.2+0 4)

Al cao

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier

25 B/Lr, 72,525 502 4 B1 for a second ‘branch’ probability seen (could be seen in a tree)
:‘;; 29 30 2% 30 29 870 M1 for a product of any first and second stage correct probabilities
M1 for a complete method to find the required probability
. 502
L Tl Sty Al orgyg 0¢ |
or 30 29 30 29 30 29 Note if decimals used they must be correct to 2 decimal places
18 7 18 &8 7 i SC with replacement
20 m Tan 2w a0 3 for 222
3029 30 29 30 29 B2 for — oe
L1855 1.5 7 900
30 29 30 29 30 29 BO
18_12 23 5 75
MI —x— of —X— 0r —X—
30 30 30 30 30 30
Mi EXE +'_'\ﬂ_ 5.2
30 30 30 30 30 30
AD

Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier

33.
1 a 1 1 L ae
(a) o BI for 35 0¢
(b) 3 2 M1 for method to sum the number of white chocolates in the bag,
m egd+4+1(=9),
Al for = or=oe
10 30
(c) 0.48 2 MI for 1= (0.35 + 0.17) oe

Al for 0.48 oe

Pearson Edexcel - Wednesday 5 November 2014 - Paper 1 (Non-Calculator) Higher Tier

34.




ra
s

156

336

Method 1 (Combinations for odd T)

M1 for one probability for odd 7. eg P(2,3.4) = =x 2 x = or P(2.4.5)
. i 0 o i g e
—gx;xgorPO.B.S) 8)<7><6orP(3,5,5) E’><7><6orl’(5.5,5)
==—X=X=

8776
M1 for adding at least two probabilities for odd 7, cgf; X -j- X -;-+

1xlxior3(3xlx1)
M1 for completely correct method, ie 6(— xZx l) +
6(2xtx D) +3(Exix D) +3(ExixD) s (Ex2xDee

156 13
Al for — oe, eg —or 0.46(4...
336 g )

I o

OR
Method 2 (Combinations for even T)

M1 for one probability for even T, eg P(3,4,5) = = X = % or P(2.3.3)
=1y2x1 =123 =2k
—?xzxgorP(Z.S.S) 123><Z><€orP(2.3.5) E’><7)(60rl’(4‘5,5)
=EX;X;0rP(33,4)=8—X;XE
M1 for adding at least two probabilities for even T, eg Ex ;x %0
Sy I
sx3xgor3(gx3xg)
M1 for completely correct method, icl—[6(-2-x-1-xi)

s 1.2
3(§x-7-x )+3( X = x ) 6(;x;x )+3( x X )
3(§x%xz)oc

Al for I—SE oe, eg E or 0.46(4...)
336 28

PTO

Method 3 (Combinations of odd and even numbers- odd totals)
M1 for one probability for odd T, eg P(EE,0) =5 X7 X Sor
P0.0.0)=2x2x2

Mlfor adding at least two probabilities for odd T,

cgz( x x ] (Exlxg) (Exéxi}

M1 for complctc]y correct method, ie 3( x X ) (— X=X —)

Al for ﬂ oe, eg E or 0.46(4...)
336 28

OR

Method 4 (combinations of odd and even numbers- even totals)
M1 for probability foreven T, 1e = E x g * 2

M1 for adding at least two probabilities for even T,

eg3(2x2x3)

M1 for c:cmpletc]y correct method, 12 1 — 3( x = )

Al for i o, cg _— or04l‘-(4
336

SC (with replacement)

For example,

MO

M1 for adding at least two probabilities for odd oreven T, eg
P(EEO) ==X =x Zor PI0,0.0) =2 x 2 x =

M1 for c:nmplctc]y correct method, eg 3 (E ® gx ;;) + C—; X E ® E) or
288

== ey —urO 56(25

T R T

AD




Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier

35.

(a)

(b)

0.2

351

Ml for 1 —0.16 — 0.4 —0.24 oe
Al cao

351

M1 for 0.16 = 125 oe
Al cao

Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier

36.

3 MI for 1 = 0.6 (=0.4)

MI for (“0.47) oe

C1 (dep on M1) for 0.064 oe leading to a correct deduction
OR

MI for 1-Pr(3H, 0T) = Pr(2H, 1T} - Pr(1H, 2T) oe

MI for 1-(0.6)-3(0.6)%(0.4)-3(0.6)(0.4)*

C1 (dep on M1) for 0.064 oe leading to a correct deduction

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier

37.

(a)

(b)

150

1 Bl oe
2 M1 for 0.75 = 200 oe
Al cao

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier

38.
19 0.82 3 Ml for 1 - 0.7 (=0.3)or 1 - 0.4 (= 0.6)
Mlfor 1- 0.3"="0.6"
Al for 0.82 oe
OR

Ml for 1 —-0.7(=0.3)or 1 - 0.4 (=0.6)
M1 (0.7 = 0.4) + (0.7 = *0.6") +(*0.3"= 0.4)
Al for 0.82 oe

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier

39.

(=]

q
M1 for 14 or 3+7 :% or any fraction equivalent to %or '?

Al cao

Pearson Edexcel - Tuesday 11 June 2013 - Paper 1 (Non-Calculator) Higher Tier

40.




26 50 11 126 M1 for 3 fractions —, 2, < wherea<10,b<9
1501 720 andc <8 e
Lo M1 for Zx2x2or 2xZlxZor Exixl(=2
a or i} L] Eor 10 9 301’ 10 9 Sl_ }'ZD)

M1 for ?x3x2+ gx?x2 3x2x?
: w e wTeTs 1098

7

orlfixgx—
10" 9 8

- 126 7
Al for —oe. eg. —
720 =40

Alternative Scheme for With Replacement

7 3 3 %]
MI for —x x> (=2
i 10 10 1000
7 3 3 89
MI for — % = X —x 3 (=—=2)
10 10 10 1000

MO A0 No further marks

Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier

41.

126

Lea

M1 for 1 —0.05-0.32 (=0.63)

M1 for 0.63" = 200

Al cao

OR

M1 for 0.05 = 200(=10)or 0.32 = 200(=64) or 0.37 =
200 (=74)

M1 for 2000 —°10" — 64"

Al cao

OR

MI for 100 -5—32 (=63)

%200

" "

M1 for
100

Al cao

SC: B2 for IZ_ﬁ as the answer.
200

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier

42,




24 EE +CC + HH LLi 5 M1 for use of 10 as denominator for 2 probability
110 -4 3 5 4 2 1
Mlfor —x—pr —x—ogr—x—
11 10 11 10 11 10
Mifor 4,3, 5, 4.2 1/(_34)
11 10 11 10 11 10 110
M1 (dep on previous M1 for 1-+34°
110
Al for 76 oe
110
Or Or
M1 for use of 10 as denominator for 2™ probability
EC+EH+CE+CH+HE+HC Mlfor 4x5ordx?2 gr %4 or S%2 gr 21X 4 or 2%
1w 1110 1w 1w 1w 110
M2Zfor 45+ 4% 3 + Sx4 +5%3 + x4 +2X5
it 1 11w 11w it w 1w 1w
(M1 for at least 3 of these)
Al for 76 oe
1o
Or Or
M1 for use of 10 as denominator for 2™ probability
E.not E+ Cnot C + H.not H oo ol oo B B i
Ml for —x—or—x—or—x—
11 10 11 10 11 10
2
T, e e G .
11 10 11 10 11 10
(M1 for two of these added)
Alfor 76 oe PTO for SC’s
110
SC: B2 for 76
121
SC:Blfortwta 5.5 4 2,2 (=15,
11 11 11 11 11 11 121
Or
£ 5 4 2 5. 4 5 2 2 4 2.5
— W AL i i . | S
11 11 11 11 11 11 11 11 11 11 11 11
Or
ATy 5.8 42,9
11 11 11 11 11 11
Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier
43.
4 (a) l=02-=01 0.35 3 M1 for correctly using total probability i1s 1 or 100% if percentages used
0.7+2 M1 (dep) for complete correct method to complete the solution
Al for 035 or 35% or —oe
100
(b) 20 2 M1 for 0.1 = 200 oe
Al cao

SC : If MO then award Bl for an answer of %

Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier

44,
8 (a) 0.15 2 M1 for 1 —(0.2 + 0.5) oe or sight of 0.3
Al oe
(b) 48 2 M1 for 240 = 0.2 pe or 48 + 120 + 36 +36
Al cao

Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier

45.



21 21 2 21
—X— — Ml —x—
7 6 42 7 6
2
Al — oe
42
OR OR
]_ L M1  Fully correct sample space with the correct
1 X Al cases identified
1 v X >
2 Al — oe
2 42
2 ) ) 4
SC : Bl for an answer of —
3 49
3
21 | 2 6 MI for identifying all 3 possibilitics of
—X—t—x— —_ 3
(1,2) and (1,3) and (2,3)
76 76 42 OR
23 2 2
OR at least one of —=x=(1,2) or —x—(1,3)
7 6 7 6
1 1 2 3 |3 3 2 25 .
1 X '\.: | \.: «,.: orFXE{E\B}anXE[],EorJ!
1 X v VoW
2 X VN 2532 23 22 32
2 Vo Ml —x—4—X— or —=x—+ —x— + —x—
2 Ty 76 76 76 76 76
16
3 X Al — oe
3 42

OR

M2 Fully correct sample space with the correct
cases identified

(M1 for 1,2 and 1,3 and 2,3 identified on a sample

space)

16
Al — oe

42

SC: B2 for an answer of ﬁ
49

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier

46.

12

0.3 = 400

M1 for 0.3 = 400 oe
Al cao

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier

47.




25 2 222 4
1—“x£+ixi+ixi - BI1 for Eorior—(could be seen in working or on
20 19 20 19 20 19 330 19 19
12 11 5 4 3 2 a tree diagram)
| =x—=t+=x—=+=
[20"19 20719 " 20 |';-] Ml for 23 ,123,2.02,.5. 3,312 3.5
2019 2019 20 19 20 19 20 19 20 19
\-1If0r]_2x£ I_ZE 5 I2 5 3 3 1" 3 5
20 Il} 200 1‘) 207 I‘;' 200 ]9 200 19 2019
222
Al for === oe or 0.58(421..))
380
OR
BI1 for iJ:nrﬁorﬂ
19 19 19
M1 for Exi ar ixE ar i E
20 19 20 19 20 19
MI for E)ci+i><ﬁ+ix£
20 19 20 19 20 19
222
Al for — oe or 0.58(421..)
380
OR (continued overleaf...)
25 114 2
contd Bl for ﬁorﬁorﬁ
5
M1 for ]—xu or ixi or ix;
20 19 20 19 20 19

12 11 5 4 3 2
Mlforl-| —%x—+ —x—+—x—
20 19 20 19 20 19

222
Al for —— oe or 0.58(421...)
380

NB if decimals used they must be correct to at least 2
decimal places

SC : with replacement

B2 for mc'e
200

OR
eg
B0

12 8 5 15 3 17
M1 for —x— or —x— or —x—

20 20 20 20 20 20
\1If0r£xi+i IS+ 3 E

20 20 20 20 20 20
A0

Pearson Edexcel - Friday 2 March 2012 - Paper 3 (Non-Calculator) Higher Tier

48.



q
> @ 7 2 M1 for §+1 orl — — or 1 where n =7
12 5+6+1 12 n

or i where k<12
12

Al for % oe eg. 0.58(33..))

SC: Award Bl for 7: 12 0r 7 outof 12 or
7in 12 ce

b 5 4 2
®) l:'— orl:3=51515-5-6=4 OR M1 %:%nrliseenuernregreen

Al cao
x+12

5 =3,x=3,3+1 OR

x+12
5
Al cao

3

M1

SC : Award Bl for an answer of %

Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier

49,
9 (a) [ 1-(0.15+025+0.20+0.16) 0.24 2 MI for 1 = (0.15+025+0.20+0.16) or I —“0.76”
Al for 0.24 oe
(b) |300=025 75 2 MI for 300 = 0.25
Al cao

Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier

50.
1 (a) 1-(02+0.1+05) 02 2 M1 for 1 = (0.2 + 0.1 +0.5) 0e
=1-08 Al for 0.2 oe
(b) 800 =02 160 2 M1 for 800 x 0.2 oe
Al cao

Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier

51.



24

S04 2,21
— X = — X =) (—x =
079 09 0
204642

90

28
90

o 2 1 nd -
Bl for — or — or — seenas 2" probability
9 9 9

pl

5 4 3 2 2
Ml for (—® —)or(—x —)or(— = —)
10 9 10 9 10 9
9

Ml for (o x )+ (o x 2+ (= x 5
Mlfor (— x —)+(—=xX =)+ (— x—
079 9 e

28
Al for — oe
90
28
SC Sample Space . B4 for %

Otherwise B0

Alternative scheme for replacement

B0 for 2™ probability with denominator 10

5 5 3 2 2
Ml for (—x—) or(—x—)or(— x—)
10 10 10 10 10 10
5 5 3 3 2 2
Ml for (—x—) + (—x—) + (— x—)
10 10 1010 10 10

A0
. 38
S.C. If MO scored, award B2 for ﬁ oe

Pearson Edexcel - Tuesday 9 November 2010 - Paper 3 (Non-Calculator) Higher Tier

52.

(@)

(b)

()

13 15

15 17

(4,7),(6,5), (8,3)

EOE

B1 cao

B2 for all 3 pairs (numbers in any order in
each pair, condone use of addition sign)
and no extra pairs

(B1 for one or two or three correct pairs
and no more than three extra pairs given,
ignoring repeats)

B2 ft accept answer as fraction or decimal
or percentage
(81 for =, x<20,x=30r 2, x>3,x=3)

X
SC: If no marks scored award B1 for ‘3 out
of 20" as final answer or other use of
incorrect notation

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier

53.

1-0.58-0.3
= 1-0.88

0.12

M1 for 1-0.58-0.3 oe
A1 for 0.12 oe

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier

54.




26 3
lxi+ixl 28 M1 for i and l as second probabilities, may
I 10 11 10 55 10 10
b di f ! 4
28 28 e seen on a tree diagram, or for m X m or
55 55 4 7
11 10
M1 (dep) for l,r2,4.7
11 10 1110
28

A1 for — oe
55

SC BZ for an answer of % oe

Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier

55.

26

%21 (2.17.(5 &
x|+ —x— |+ —x—
10°9) 11079) (1079

_6+2+20
To90

28
90

B1 for %[crange) or é—(red] or g-{yeuow) seen

as 2™ probability
( e
M1 for ix: or ixl or ixi
10 9 1 9 10 9
b) 2 i
M1 for ix: + lxl + ixi
10 9 10 9 10 9
Al forﬁoe
90

Alternative scheme for replacement
( 3. .9

WTor] S o[ 2 Jar ] e
10 10 10 10 10 10

3 -3 2.2 3 5}
M for | —x— |+ | —x— |+ —x—
10 10 10 10 10 10,

No further marks may be awarded

Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier

56.
10 (a) | 1-(0.15+0.3+0.35) = 0.20 2 M1 for 1—-(0.15+0.3+0.35)
A1 for 0.2 oe
(b) | 0.30x500 150 2 M1 for 0.30x 500

Al cao
NB: m etc. gets M1 AO
500
but “150 out of 500" gets M1 A1

OCR GSCE - Thursday 5 November 2020 — Paper 5 (Non-Calculator) Higher Tier

57.




(a) Correctly completes table 1
7
6
7
(b) | () In (b)(i) and (ii), not ratio or words,
13 13
eg —, likely but not — , unlikel
g 25 ¥ 25 Y

3 isw cancelling/conversion to other forms

EY3 2 BAFT for their correct numerator + : P

2 BA1 for fraction with denominator 25 FT numerator 12 + any evens in their (a)
(b) | (i) | 14 2 FT their correct numerator / 25 FT numerator 13 + any multiples of 3 or 4

25 oo BAFT for their correct numerator but in their (a)

- denominator incorrect

OCR GSCE — Monday 9 November 2020 — Paper 6 (Calculator) Higher Tier

58.

31 nfww

4 IM2for20:10 or 20

and21:9 or =_

and

OR

M1 for at least one other fraction
2

fraction equivalent to % seen

-1 2 7
M1 for —— = Zoe or — = —oe
t—-1 3 t=-1 10

M1 for 3(r—1)=2(t - 1) and
10r=7(t- 1) or better

If 0 scored

SCA for final answer 30 dep on M2

equivalent to = seen, or one other
3

Alternative method using algebra

M1 for elimination or substitution of r

SCA for answer 30 with no working

Motes on alternative method

Where number of red = r. Does not
need to be defined. Accept any other
letter.

Implies first M1 mark

A correct equation in b may imply
first MAM1 marks

OCR GSCE — Monday 9 November 2020 - Paper 6 (Calculator) Higher Tier

59.

12

4
— o8
28

or(0.1428 to 0.143

3 M1 for 4 correct combinations soi by

highlighting in list or table or by
unsimplified numerator 4

table or by 28

Alternative method

7

47
or

1 1 1 2
M1 for;x; or ;x> oeseen

M1 for 4 x 7 soi by complete list or

M2 for(%x%)+ (}x5)+(lxl) oe

Economics Engineering
Geography German
Geography Graphics
Media Music




OCR GSCE — Monday 9 November 2020 - Paper 6 (Calculator) Higher Tier

60.

15

9
= o [0].5625 oe

4 B1 for 0.75 oe seen

M2 for 0.25 x 0.3 + their 0.75 x 0.65
or
M1 for 0.25 = 0.3

soi by 0.075 or f—noe
or for their 0.75 = 0.65
soi by 0.4875 or % oe

Accept [0].56 or [0].563 as final
answer for full marks if BIM2 eamed

Award B and M marks for equivalent
working with a base value e.g. 100
buses

OCR GSCE - Thursday 7 November 2019 - Paper 5 (Non-Calculator) Higher Tier

61.
11 Select a pencil from the bag 1 Steps may be combined together
and record results
and put it back in the bag oe
Repeat trial at least 10 times 1 Acceptmany, a lot etc clearly implied
. . no of red pencils . .
Find rel frequency or probability 1 — oe eg if number oftrials =20 and
no of trials
) ) then number ofreds = 5
or no of red pencils recorded and no of trials 100
recorded or number of greens recorded oe or no of red pencils x ———
no of trials
Relfreq x 100 oe 1 then allow both marks

OCR GSCE - Thursday 7 November 2019 - Paper 5 (Non-Calculator) Higher Tier

62.

16

11 5
40

B3 for walk [only] =29, walk and sail =11

or B2 for walk and sail = 11

or M1 for40 + 18 + 3 - 50 oe

M1 for answer - or U
40 k

OR
M1 for40+18 + 3 - 50 oe

B2FT for correctly completed Venn diagram
with 40 - x, x [their 11], 18 — x, [3] correctly
placed FT their x (can be algebraic or xis

an integer (0 <x <18)

or B1FT for attempt at Vienn diagram with

40 - xor 18- x or 3 correctly placed FT their
x (can be algebraic or xis an integer
0<x<18)

11
M1 for answer — or —
40 k

Acceptdec or % equivalents (3 figures)
0.2750r275%

isw cancelling, conversion to other forms
For B3 and B2 11 must be identified for
both walk and sail

M1 implied by 11 seen

where0<n<40and 11 <k <50
Check previous working for signs of

" 18 9
cancellinge.g. -— = — gets M1
ge9 40 20 9

M1 implied by 11 seen

For B2 or B1, condone omission of
universal set rectangle

where 0 <n<40and 11 <k <50
Check previous working for signs of

. 18 9
cancelling e.g. —=— gets M1
ge.g 40 20 9




OCR GSCE — Monday 11 November 2019 - Paper 6 (Calculator) Higher Tier

63.

3 1

2 2 2 . 8
M2f0rgxgxg 90|by% oe or
0.037[...]or 3.7[...]1%

or

B1 for E oe
6

If 0 scored then SC1 for (their (%))3 oe

0 < their (%) <1

OCR GSCE — Monday 11 November 2019 — Paper 6 (Calculator) Higher Tier

64.

13 Ege
66

M4forxZ
3 44
OR
BA for [p(b|ack)=]§ o€ soi
and

B2 for =

44
or B1 1‘0r:—_1 with 0<n < 44
or B1 for%

and

2 .n 229
2x A ik
M1 for 3 ﬁ‘ren’44 orsx

oe e.g. % or 0.439... or 0.44 after
correct working

OCR GSCE — Tuesday 21 May 2019 — Paper 4 (Calculator) Higher Tier

65.




[Year 10] [left] 17 and [total] 61 6
[Year 11] [left] 20 and [total] 59

and

a comparison such as

there are more Year 11 left-handers [than Y 10] and
there are fewer Year 11s [than Y10] in total

or two comparable figures

e.g. [L=] 280r 279 or 27(8..] or 28% or 2= oe
6] 3599

12%-) 340r 339 or .33[8..] or 34% or 22 ce
59 3599

and conclusion
eg. Y11

BS for [Year 10] 17 with 61, and [Year 11] 20 with 59
(eg as fractions, or “out of”)

and

B1 for a comparison and conclusion e.g. two
comparable figures or a statement such as “there are
more Year 11 left-handers [than Y10] and there are
fewer Year 11s [than Y10] in total ....... !

ar

the following marks may be seen in their working or in
the table
B4 for [Year 10] 17 with 61 and [Year 11] 20 with 59

or

B3 for [Year 10] 17 with 61 or [Year 11] 20 with 59
or

B2 for 17 or both 37 and 59

or

B1 for 37 or 59

if percentages used we must see % sign or use “out of
100 people ..."

OCR GSCE - Thursday 6 June 2019 - Paper 5 (Non-Calculator) Higher Tier

66.
18 12 6 Accept dec or % equivalents (3 figures)
TE b 0.0909... or 9.09... %
isw cancelling, conversion to other forms
MS5 for 2. 3
12 11

or B4 for % seen

or B2 for train and car = 4
orM1for12+6+7-21o0e

OR
with

0<x<14)

M1 for Exu
n n-1

If 0 scored, SC1 for L3 X . soi
n n

or B3 for train [only] = 8, train and car = 4

B2FT for correctly completed Venn diagram

12 - x, x [their 4], 6 — x, 7 correctly placed
FT their x (can be algebraic or x is an integer

or BAFT for attempt at Venn diagram with
12 — x or 6- x or 7 correctly placed FT their x
(can be algebraic or x is an integer 0 < x < 14)

Do not accept %alone
0
For B4 accept % provided it does not come

2
from =alone
6

For B2 and B1, condone no rectangle
around Venn diagram

where k<nandn <21

where k<nandn <21




OCR GSCE — Tuesday 11 June 2019 — Paper 6 (Calculator) Higher Tier

67.

Correct answer based on angle or
arealarc length

The angle [for black]

* istoo small oe or

* s less than a fifth oe or
e should be 72 oe

The area/arc length [for black]
* s too small oe or
* s less than a fifth oe

Accept 26 to 30 for “the angle”

Accept “not equal to" for “too small”
or “less than”

See appendix

Any comment recognising limitations
in range of the vertical scale

EG It does not start at zero or
It starts at 113
See appendix

OCR GSCE — Tuesday 11 June 2019 - Paper 6 (Calculator) Higher Tier

68.

a

[expecied profit is £] 80 with 200 and
120 seen

B1 for [£] 200 or 20 000[p]
AND

M2 for 0.1 = 400 = 3

or

M1 for 0.1 = 400 soi 40

soi 120

Alternative method
B1 for [£] 200 or 20 000[p]

M1 for 222007100 1hri7es]  soi 33[.3...]

M1 for 0.1 = 400 soi 40
A1 for she is giving away too many prizes oe

Alternative method

B1 for [£] 200 or 20 000([p]
M1 for their200-100

= [prizes] soi33[.3...]
M1 for 2LEBE-1 - 5610,08(3...]

A1 for the probability of winning the game is too great
oe

Apply scheme to consistent
working in pence rather than £.

OCR GSCE — Tuesday 11 June 2019 - Paper 6 (Calculator) Higher Tier

69.
12 | a (0) 1 2 3 4 5 B1 for at least 10 correct entries
1 0 1 2 3) | 4
2 ()| 0 1 2 3
3 2 1 0 1 2
4 (3) | 2 1 0 1
5 4 3 2 1 0
b ﬁ B3 for ﬂ oe isw wrong cancellin
5832 46656 9 o

or for 0.0214(33...) oe as final answer

OR

BAFT for E oe
36

and

10 .10 .10
M1 for therrg x their% x rheirﬁ

FT from their completed table in
part (a)

—=—=0.2777... t0 0.278
36 1
Common mistake:

B1 MO for 3 = E
36




OCR GSCE - Thursday 8 November 2018 — Paper 5 (Non-Calculator) Higher Tier

70.
3 (a) 36 and 45
3 (b) Even and prime are not mutually e.g. 2is both prime and even

exclusive oe

2 is counted twice
One number is prime and
even

Do not accept there are only 2 prime
numbers

OCR GSCE - Thursday 7 June 2018 — Paper 5 (Non - Calculator) Higher Tier

71.

(a)

Too many branches oe

Accept e.g.

Takes too long oe

Tree would be too big oe

Too complicated oe

Too hard to draw oe

Tree diagrams are better for fewer
outcomes oe

Do not accept e.g.

Trees can only have two branches

(b) | (1)

Attempts sample space

36 correct outcomes

M1

A1l

Presented in any clear form, including list
or table

Pairs shown or accept as totals in table

For M1, accept two by two table drawn
with row and column labelled 1 to & [with
no entries or with incorrect entries]

For M1 accept as a list of at least 6
different pairs or totals

with no others or no repeats
If listing as pairs on table, condone e.g.
(2, 1) listed as (1, 2) etc

(i)

M1 for (5, 6) and (6, 5) identified

(1 17
or for 2| —x—Jne
6 6

Accept indicated on sample space

OCR GSCE — Tuesday 6 November 2017 — Paper 5 (Non - Calculator) Higher Tier

72.
14 2 5
@ It should have been ixioe isw M1 for showing __xicr lxl
10 10 10 2 2
or for explaining that he did not take
account that there was one less sweet for
the second choice oe
b 4 3 5
8RB, el T B L0 oo 2l S Mo 4x L)ool 3 1) o
50 10 9) Lo 9) \10 |9 10 9} \1o 9} \10 9)

oe

products oe isw

oe isw

or M2 for the sum of any 2 of the above

or M1 for any correct product from above

If 0 scored, SC1 for 58 different options soi

| tooved o Pt o

l10"9) Lio 9

accept equivalents over 90

throughout for method and grouping of
products

(5 4] (4 3]

or M2 for the sum of any 4 of the
above products oe isw

or M1 for any the sum of any 2 of the
above products oe isw

58
Implied by —
¢ ¥ 100




OCR GSCE — Wednesday 8 November 2017 — Paper 6 (Calculator) Higher Tier

73.
4 (a) 12 _ 3 1 Alternative
28 :; 12 + 28 = 0.428571...
or and
3 3+7=0.428571...
—of28=12
7
or 12 + 28 :g
(b) Integer from 23000 to 23334 2 Accept integer from 23000 to 24000

M1 for 10 000 + ; oe

If MO then SCA for figs 2333... seen

after M1

(c)

The growing conditions on the farm may
be different to the garden oe

or

Sample too small ce

Mere reference to factors that affect
growth is insufficient

OCR GSCE - Thursday 8 June 2017 — Paper 5 (Non - Calculator) Higher Tier

74,

18

22 5

85

isw conversion to other forms

M1 for (85 +78 +20) — 120 oe soi
Orfor 120 — 20— 78 oe

B2FT for correctly completed diagram with
85 — x, x [their 63], 78 — x, 20 correctly
placed FT their x (can be algebraic or x is
an integer
0<x<78)
Or BAFT for attempt at Venn diagram with
85— x or 78 — x or 20 comrectly placed FT
their x (can be algebraic or x is an integer
0<x<78)

n

272
B1 for T or == (both proper fractions)
n

seen

For 5 marks accept 0.2588.. or 0.259
or 25.88...% to 25.9%
M1 implied by 63 or 22 seen

20

For B1, condone omission of rectangle
for universal set

OCR GSCE — Tuesday 13 June 2017 — Paper 6 (Calculator) Higher Tier

75.




6 |(a |i 2 B1 for table completed with no more than | Ignore negative signs
x|1|2]213]| 4 2A01.3a | 5 grrors or omissions
111]12(2]|3]| 4
2|12 |4|4(6|8
2|12 |4|4(6|8
313|6|6|9]12
4|4(8|8 (12|16
ii 9 2 BAFT for their correct numerator Ignore attempts to convert form or
— oe 1A02.1a simplify
25 1A02.3a - . .
B1 for fraction with denominator 25 Accept [0].36 or 36% but not ratio or
in words
b Spinner completed with 3 12 Do not accept 0 for 3 marks
3 negative numbers and 2 positives | 2A03.1a | M{ for = soi eg by 12 [out of 25] Not just 12 as a number on the
1 AD3.2 25 N
or spinner
2 negatives and 3 positives
M1 for spinner with 5 numbers inserted, | Condone 0 (as positive) for M1
at least one negative

OCR GSCE - Sample Papers — Paper 4 (Calculator) Higher Tier

76.
7 |(a) 50 2 1
2 AO1.3a B1 for 3
)| @) |2 1
5 oe 1 A02.1b
(i) 1 oe 1
5 1 A02.1b
(c) Mo evidence that Dan knows what Ethan is 2 M1 for reason not including reference
thinking as over the 15 trials the relative 1 A02.5a 1 . 1
1a033 |to = relative frequency or —
1. 5 6
frequency of — is very close to the . -
5 theoretical probability
theoretical probability of 1
6 FT their (a) and (b)

OCR GSCE - Sample Papers — Paper 5 (Non - Calculator) Higher Tier

77.

(a)

Outcomes not equally likely oe

1 AD3.4b




(b) Larger number of trials

1 A03.42
(c) 0.09-0.16 2 P :

1 A01.3a | M1 for |\ﬁj or 0.35 or any

1A02.1b

reasonable estimate (FT their (b))

OCR GSCE - Sample Papers — Paper 5 (Non - Calculator) Higher Tier

78.
6 5 red 3 M1 for listing at least two pairs of red
20 blue 1a01.3b | and blue marbles giving a probability
180310 | 4
1A032 | F

5

M1 for at adding 5 red marbles to at
least two pairs

SC2 for 10 and 20 pairing seen

AQA GSCE - Thursday 4 June 2020 - Paper 2 (Calculator) Higher Tier

79.




27

AIENMMEUVEe Imewnoa 1

4 16 64 16 oe fractions or decimals
— % — Oof — Of —
20 19 380 95 4 16
condong — = — efc
or
6 10 60 3
E * ﬁ ar ﬁ or ﬁ M1
or
i 3 21
— W — Dr —
20 19 380
Any 2 of oe fractions or decimals
4 16 6 16
20 19 380 a5
and
6, 10, 80 3 Mdep
20 19 380 19
and
i or 21
. =
20 19 380
4 16 6 10 7 3 oe fractions or decimals
—_— e — — T —E —
20 19 20 19 20 19 16 3 21
e — + — F —
or M1idep 95 19 380
64 60 | 21
380 38O 380
145 29 accept 0.38 or 38% with full working
— m’ —
380 76
A1 | sc2 15 o 29
or [0.381, 0.382] 400 80

or [38.1%, 38.2%)]

or 0.3625 or 36.25%

Mark scheme and Additional Guidance continues on the next 4 pages




Q Answer Mark Comments
Alternative method 2
G 4 24 6 oe fractions or decimals
— % — Oof — Of —
20 19 380 a5 3 6 4 ,
or con GHEEXE efc
T 10 70 T
E £ ﬁ or E or ﬁ M1
or
3 11 s
20 19 380
Any 2 of oe fractions or decimals
6 4 24 6
—_— % — Of — Of —
20 19 380 95
and
27
t 7 10 70 7 M1dep
con — % — Of — Oof —
20 19 380 38
and
3 17 51
— e O —
20 19 380
G 4 7 10 N 3 17 oe fractions or decimals
—_— = — = —_— i —
20 19 20 18 20 19 g 7 51
_ e e —
or Midep | 295 38 380
2,70, 51
380  3B0O 380
145 or 29 accept 0.38 or 38% with full working
380 76
Al | sc2 M8 29
or [0.381, 0.382] 400 80

or [38.1%, 38.2%]

or 0.3625 or 36.25%




27
cont

Alternative method 3

6 15 an 9 oe fractions or decimals
—_—% — O —— Of —

20 19 380 38 6 15

d —x — g

or condone 20 ® 0 etc
7 9 63

20 % 19 or 380 M1

or

N N R

20 19 380 190
Any 2 of oe fractions or decimals
6 15 or an or g

e M = =

20 19 380 38
and

7 9 63 M1dep

—_— e O —

20 19 380

and

3 2 6 3

— % — Of — Oof —

20 19 380 190

4 6 . 15 7 . g oe fractions or decimals

20 20 19 20 19 ] 1 g 63 3
3 2 5 38 380 190

-2 e =

20 19 Midep
or

44 9% 68 6

20 380 380 380

145 29 accept 0.38 or 38% with full working
— m’ —

380 76

a1 | sc2 45 o 29
or [0.381, 0.382] 400 80

or [38.1%, 38.2%]

or 0.3625 or 36.25%




Q Answer Mark Comments
Alternative method 4
716 or 112 or 28 oe fractions or decimals
20 19 380 95 7 18
condone — = — eic
ar 20
G g 54 27
E * ﬁ or ﬁ ar @ M1
or
4 30123
20 19 380 a5
Any 2 of oe fractions or decimals
78 112 28
20 19 380 a5
and
27 E E or E or E M1dE‘p
cont 20 19 380 180
and
4 3 12 3
— % — Of — O —
20 19 380 a5
3 7 16 G e} oe fractions or decimals
—_— e — T — e — W
20 20 19 20 19 ; 3 o8 27 3
4 3 ®97720 95 190 95
[ —
20 19 M1idep
or
o3 12 M 12
20 380 380 380
145 or 29 accept 0.38 or 38% with full working
380 76
a1 | sc2 15 o 29
or [0.381, 0.382] 400 80

or [38.1%, 38.2%]

or 0.3625 or 36.25%




27
cont

Alternative method 5

4x16 or 6=x10 or 7= 3 oe eg 64 or 60 or 21

or M1 or

3x17 or Tx10 or 6 x 4 51 or 70 or 24
Any 2 of oe

4x16 and 6 =10 and 7 =3 implied by 145
or M1idep

any 2 of

3«17 and 7 =10 and 6 = 4

4x16+6x10+7x3 oe

2019
or M1dep
3x17+7=10+6=4

2019
145 29 accept 0.38 or 38% with full working
380 76

At | sca M8 o 22

or [0.381, 0.382) 400 80
or [38.1%, 38.2%] or 0.3625 or 36.25%

Additional Guidance

Ignore simplification or conversion attempt after correct answer seen

For M marks accept oe decimals rounded to 2 dp or better

Select the scheme that favours the student for the first 2 M marks even
if not subsequently used

. 4 16
Using 0% 70 etc can score M1MOMOAQ or SC2

Do not award marks if a fraction comes from an incorrect method

4 15 3
Al 123
g 20719 19

Mo

AQA GSCE — Thursday 8 June 2020 — Paper 3 (Calculator) Higher Tier

80.




AQA GSCE — Thursday 8 June 2020 — Paper 3 (Calculator) Higher Tier
81.

Alternative method 1

1-018-0862 or 0.2 M1 oe
their 0.2 = 350 Midep | oe
70 Al

Alternative method 2

0.18 = 350 or 63 oe
or
0.62 = 350 or 217 M1
11 or
0.8 x 350 or 280
350 — their 63 — their 217 oe
or M1dep
350 — 280
70 Al

Additional Guidance

70 on answer line MIM1AO
350
0.8 MOMOAD

AQA GSCE - Thursday 8 June 2020 — Paper 3 (Calculator) Higher Tier
82.



Q Answar Mark Comments
120 oe
550 or 048
or
130
ﬁ or 9.52
ar M1
% or 0.53125
ar
% or 0.46875
22
120 17 51 oe
— x — or — or 0.255 M1
250 3z 200 implies 1st and 2nd M1
130 15 39 oe
— w — or —— or 0.24375 M1
250 32 160 implies 1st and 3rd M1
0.255 and 0.24375 and Yes must be comparable if fractions used
Ad
&g % and % and Yes

Additional Guidance

Accept values given as percentages

Accept decimal values truncated or rounded to 2dp or better




AQA GSCE — Thursday 6 June 2019 — Paper 2 (Calculator) Higher Tier

83.
(b:g=)4:1or (b:w=)6:10 oe ratio or equation
ar eg (b:g=) 3:0.75
states a number of blue discs that or 4 blus 1 green
gs{gsr times the number of green or 6blue 10 white
or of 5h=3w
states a number of blue discs and a donot allow (b :w=)3:5
number of white discs that are in M1
theratio 3: 5 (not3 and 5)
or
h=4p
or
L
w 5
18 Three numbers of the form any order
12n, 3n and 20n may be seen in a ratio or as numbers of
discs
where n =0
eg 12:3:20 or 100 15 &0
or
unsimplified fraction equivalent to or 3 075 Sord:1: %
3z
— A 12 + 20
35 o 2+3.20
or 3+5 or 8
3+0.75+5 B£.75
b4 Eb Eb
or 3 3 or 335
ht=h+=Hh —h
4 12
% or 0.91(4..)) or 91.(4._)% Al oe fraction eg %




Additional Guidance

Ignore conversion of a correct fraction to a decimal or percentage

Ignore incorrect simplification of a correct fraction

Answer 32 : 35 M1ATAD

integer
integer

Final A1 fraction answers must be

18 cont

1:4 only scores M1 if indicated as g : b

10 : 6 only scores M1 if indicated as w: b

1st M1 may be embedded
egl b:g:w=4:1:10 M1
eg2 b:g:w=6:3:10 M1

Condone 4b : g as an indication of 4 blue and 1 green etc

AQA GSCE - Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier
84.

2 — B1

AQA GSCE - Thursday 8 November 2018 — Paper 2 (Calculator) Higher Tier
85.

Aand B B1

1 Additional Guidance

AQA GSCE - Thursday 8 November 2018 — Paper 2 (Calculator) Higher Tier
86.



18(a)

10 or 10 oe eg 50%

10+7+3 20
M1

5 1
ar m ar 3 or 0.5
1 1000 125
— or 0.125 or 12.5% A1 — o —
B o %% 3 Z000 " 7000

Additional Guidance

lgnore incorrect conversion if correct answer seen

Answer % M1
10 out of 20 Mo
10: 20 MO
Answer 1 outof 8 140
Answer 1: 8 is AD but M1 is possible

0oz M1

20 20 20




E or 1 1 oe

19 19 allow [0.52, 0.53] or [0.15, 0.16]
Exitxz} oe 11Exicﬂ'£
19 18 T 9" Y a2
, 3,10 (x 2) allow [0.52, 0.53] = [0.16, 0.17]
19 18 Midep | or [0.15, 0.16] = [0.55, 0.56]
5
— | M 2
or 5?[ ]

or [0.087, 0.088] (= 2)

10 60
— 0175, 17.5...% —
= or or oe eg 23

Al
sC2 % or 0.184... oe

Additional Guidance

7 .10 3

18(b) 20 19 18 M1MOAD

T 3x1D

If more than one product is seen, the comrect one(s) must be selected
for 2nd M1
10 & 3 10
4 + o

18 19 18 hi 1 M0AD

Both correct products selected but multiplied together scores M1 only
10 3 3_10
" Ed

— K —

TR IR M1MOAD

lgnore incorrect conversion if correct answer seen

5 out of 57 cannot score 2nd M1 but implies 1st M1

5 : 57 cannot score 2nd M1 but 1st M1 is possible

Answer 10 out of 57 M1M1AD

Answer 10 : 57 is AD but M2 or M1MO is possible

AQA GSCE — Monday 12 November 2018 — Paper 3 (Calculator) Higher Tier
87.

200 B1

13 Additional Guidance




AQA GSCE — Monday 12 November 2018 — Paper 3 (Calculator) Higher Tier
88.

Alternative method 1

0.38 = 50 ar 19 M1 oe
0.6 =80 or 48 M1 oe
their 19 + their 48 oe
50+ 80
M1dep

or —E?

130
0.51(5...) or 0.52 oe
or 6—? and (B7 x2=)134

130 Ad

67
of — and (130+2 =)65

130 { )
Alternative method 2

16

0.38 = 50 or 19 M1 oe
0.6 = 80 or 48 M1 e
0.5 = (30 + B0) or 65 Midep | oe
65 and 67 Ad

Alternative method 3

0.38 =50 or 19 1 oe
0.5 = (50 + 80) or B5 M1 oe
their 65 - their 19 oe
80
M1dep

or 'l

a0
0.575 Al

Continues on next page



Alternative method 4

06 =80 or 48 M1 oe
0.5 = (50 + 80) or 65 M1 oe
thei | oe
eir 65 — their 48 or 7 Midep
50 50
0.34 Ad

Alternative method 5

16 cont
50 oe
— ¥ [03Bor014...  or0.15 M1
130
8 oe
x 06 or0.36... or0.37 M1
130
their 0.14_._ + their 0.36. .. Midep | oe
0.51(5...) or 0.52 Ad

Additional Guidance

AQA GSCE — Monday 24 May 2018 — Paper 1 (Non - Calculator) Higher Tier
89.



15

Alternative method 1

025+ 015+0.3 or 0.7 1 oe eg1-005-005-02
their 0.7 = 200 , . 140
M1dey oe implied by —
P Y 200
140 A
Alternative method 2
0.25 = 200 or 50 os
or 0.15 = 200 or 30 1
or 0.3 * 200 or 60
0.25 % 200+ 0.15 = 200 + 0.3 = 200 Mid implied b 140
ep |oe  impli Y —
or 50 + 30 + 60 200
140 Al
Alternative method 3
(0.05 + 0,05 + 0.2) = 200 oe
or 2 x 0.08 =200+ 0.2 = 200 1
or 2x10+ 40 or 60
200 = their 60 140
M1de o implied —
p plied by 200
140 Ad

Additional Guidance

140

Ignore atternpt to simplify — MAM1AD
200

140

—— and 140 both on answer line MIM1AD

200

Do not allow a misread of any probability

AQA GSCE - Thursday 7 June 2018 — Paper 2 (Calculator) Higher Tier

90.




7{a)

Twao different probabilities from

g or 0.75 or 75%

or

22 073 or 73.0.)%
30

or
L or 0.425 or 0.43
40

or 42.5% or 43%

or
34—6 or 0.6 or 60%

or

37
— or 0.74 or 74%
%0 ar ar

ar

% or 0.53... or 53.(._.)%

ar

ﬁ
70
or 55.7...% or 56%

or 0.557 ... or 0.56

B2

oe

B1 for one comect probability

Additional guidance continues on the next page




T(a)
cont

Additional Guidance

108
Accept 180 as one of the probabilities

Mark the answer line if it has two answers ignoring any incorrect
probabilties in the working lines

lgnore any incorrect cancelling or change of form (fraction, decimal or
percentage)

If the answer line only has one answer, check the working lines for a
second answer for B2. Ignore any extra probabilities, unless incorrect,
in which case award B1 max

13 54
eg Working lines — Answer line — B2
g 9= 20 30
eg Working lines 13 2 Answerline 54 B1
20 15 a0
If the answer line is blank, check the working lines for answers for B1 or
B2. Ignore any extra probabilities, unless incorrect, in which case award
B1 max
15 22 54
eg Working lines — , — , — Answer line blank B2
g 9715 20" 30" 20
eg Working lines 153 3% pnswer line blank B1
20 15 90

Probabilities must not be given as ratios

Do not accept the average of the given probabilities as answer




7(b)

Alternative method 1 (ft their part (a))

Their probability with the greater
number of trials

and

valid reason eg More throws

B1ft

ft their two different probabilities from
part (a)

both probabilities must have a
denominator based on throws

Alternative method 2 (independent of part (a))

54

90

and

valid reason eg Total throws

B1

Additional Guidance

Accept any unambiguous indication of their probability eg the day

Using ratios BO
lgnore any non-contradictory statements

60% and It's for all three days B1
54 .

o and It takes into account more throws B1
17 22

0 (with 0 also in (a)) and Because he threw it more on Wednesday B1ft
54

%0 and Shows the overall probability B1
o4 "

0 and Probability over total throws B1
% (with Wednesday probability in (a)) and It's the average total days, B1ft
not just Wednesdays

Additional guidance continues on the next page




Tib)
cont

54

Comrect ft probability or % and It's more reliable BO
54 ,
% and There's a lot of data BO
Comect ft probability or % and He may get better with more throws BO
54 .
% and He throws 90 times BO

- 54
Comect ft probability or %0 and More hits BO

AQA GSCE — Tuesday 12 June 2018 - Paper 3 (Calculator) Higher Tier

91.

10 ) oe

— and — seen

a0 K| i accept 0.33... and 0.29__.

g

or — and — seen
3 K}

10,9,.8 oe

3o 31 32 accept 0.33... and 0.29... and 0.25

hM1dep

or 1 x 3 x 1

3 1 4
27
3 T20
— 0.0239, 0.0242 Al
122 o | ) %€ ®3 29780

Additional Guidance

Fractions do not have to be in simplest form

M0 9 B T

EXE?‘E“E M1MO0
10 9 B

E+E+§ M1MO

AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier

92.




11

Alternative method 1

or 31({.6...)% or 31.7% or 32%

x+2v+2v+ 10 or Sx+10 oe
or x+2¢+2¢+10+ 90 M1
or Sx+ 100
X+ 2v+ 2y + 10 =360=90 oe
or Sx + 10 =270
orx + 2y + 2¢ + 10 + 90 = 360 M1idep
or 5x + 100 = 360
or 5x = 260
(x=)520r 2y =104 Al May be on diagram
or 2c + 10 =114
114 57 38 18 2 x their 52 +10
—_— O — Of —Of — ft ——
360 180 120 60 Bift 360
or 0.31(6..) or 0.317 or 0.32 or ther angle for C
or 31(6...)% or 31.7% or 32% 360
Alternative method 2
ﬂ+i+£+p{c}=1 oe
360 360 360
a0 x 2x 2x +10
oFf — + — ¢ —— + ———
380 380 360 380 M1
or
2v +10
5x+100
an x 2x 2x +10 oe
—_—t —  — * =1
360 360 360 360 Midep
{x=)520r2x =104 Al May be on diagram
or2x+10 =114
114 57 3B 14 2 x their 52 + 10
—_— Oof — Oof —0Of — ft — —
360 180 120 B0 Bt 360
or 0.31(6..) or 0317 or 0.32 or their angle for C
360




1
cont

Additional Guidance

B - ) . 114
Ignore incomect simplification or conversion after —— oe

M1M1A1B1
360 -10-90 MiM1
5
x+2¢+ 2v + 10 followed by Gx + 10 = 270 M1MO

Do not accept decimal within fraction for final answer if correct fraction
not seen

The follow through is not available if A1 awarded

AQA GSCE - Thursday 2 November 2017 — Paper 1 (Non - Calculator) Higher Tier

93.




Alternative method 1
(8.8) = and oe
11 10 M1 may be seen on tree diagram
3 2
R,R) — and —
or (R.R) 1o 10
(B.8) Zx - or =8 oe |
. . Midep may be seen on tree diagram
or (R, R) 11710 * 10
8 _7 3 _2 56 &
— K —x— Midep | — + —
1110~ 11 10 Pl 110 " 110
62 3 oe fraction
— o — Al
110 55 accept 0.56(...) or 56.(...)%
Alternative method 2
27 | B.R 2 and = e
" 10 M1 may be seen on tree diagram
3 8
R, B) —and —
or | ) 373 o
@R & x = >~ .
Midep may be seen on tree diagram
u::nr{H.Elnixi u:l-rz—4
11 10 110
8 3 3 &8 24 24
e — % — = =% — Mide - = =
10 1 10 . 110 ~ 110
62 N oe fraction
— o — Al
110 55 accept 0.56(...) or 56.(...)%
Additional Guidance
Ignore incorrect simplification or conversion after a correct fraction M3A1
6820
M3A1
12100

AQA GSCE — Thursday 8 June 2017 — Paper 2 (Calculator) Higher Tier
94.



% or 0.25 or 25%

B1

Additional Guidance

Ratioeg1:4 or 1:3 BO
%seen and answer 1:4 B1
Expressed only in words eg 1 out of 4 BO
s@) 1 out of 4 and % B1
%seen with change to incomect decimal or incorrect percentage
eg 41 and answer 0.4 B1
Ignore chance words if j‘— seen
eg 41 and answer Likely B1
(1 %) 10 (*) 10 (=) 5 oe
. 10=10x10 mm‘l}l} M1
2 2
500 Al SC1 5or324 or 400 or 405
Additional Guidance
5(b)
10+10+5 MOAD
SCs are

for the answers from not including zero at least once

ie9=x9=4or10=10=4o0r9x8x5

orfromamisread ie1=x1x1x5

AQA GSCE - Thursday 8 June 2017 — Paper 2 (Calculator) Higher Tier

95.




Alternative method 1

40 May be implied
B1 2
*9 20
2+ x+ 2y + 5 =their 40 oe equation eg 3x + 5= 38 (scores B1M1)
or 3x + 7 = their 40 M1 their 40 must be an integer
or (theird) =2 =5}+3or33+ 3
{x =) 11 ft BOM1
Alft Does not have to be an integer
Accept answer rounded or truncated to at
least 2 sf
27 2xtheirintegerx +5
— or 0.675 or 67.5% Only ft evaluation of . :
40 40
B1ft | and 0 < answer < 1
Denominator must be 40 (may
subsequently be simplified)
Alternative method 2
2 1 oe equation
2+x+2x+5 20
M2
or x+2x+5 _ 19
2+x+2v+5 20
x=pn Al
27 2xtheirintegerx +5
— or 0.675 or 67.5% Only ft evaluation of
a0 / 40
B1ft | and 0 < answer < 1

Denominator must be 40 (may
subsequently be simplified)

Alternative methods 3, 4 and Additional Guidance continue on the next two pages




cont

Alternative method 3

3x — 100% = 5% = 12.5%

Using 2 — 5% and 5 — 12.5%

M1
or 3xr — B2.5% oe
x—825%+3orx = 2T 5% M1idep | o
2+ 5 52 x 27 5% + 12.5% M1idep | o&
% or 0675 or 67.5% Al
Alternative method 4
3x — 1 i-Ec\rEﬂ.‘ E L.Isng—:rlarudE—:rE
] 20 M1 20 20
oe
14%*3{.&'(—}— M1idep oF
ox+5 52x 29, 25 o8
20 20
M1idep
or2y +5 — E
20
27 Al

— or 0675 or 67.5%
40

Additional Guidance continues on the next page




cont

Additional Guidance

(Alt1) x=6 (noworking) Answer % (first B1 implied) B1MOADB 1t
Alt1) 2+x+2x+5=20
AT 2w & BOM1
x= ? Answer HE—EDEE A1ftBOft
13.5
Answer —— B1M1A1BO
20
11 by inspection or T & | scores the first 3 marks
Answer 222 B1MOAOBO
2v+5
Answer 2
3x+7 £ro
Ratio eg 27 - 40 B1M1A1BO
Expressed only in words eg 27 out of 40 B1M1A1BO
27 out of 40 and z B1M1A1B1
40
% seen with incomrect change of form or incomect cancelling
27 B B
eg a0 and answer 027 TM1A1E1
lgnore chance words if 27 seen
40
B1M1A1E1

eg % and answer Unlikely

AQA GSCE - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
96.




200+ 0.4 oe

or 200 = 40 = 100 M1 (Heads =) 300
or200=04 xn 200 : 300

500 Al

Additional Guidance

Build up method must be complete
5
eg 200 = 40%, 100 = 20%, 500 (= 100%) M1 A1
200 = 40%, 100 = 20%, 400 = 80%, 100 + 400 M1AD
200 = 40%, 100 = 20%, 400 = 80% MOAD
04:0.6 =200: 300 M1AD
100 = 20%, 300 = 60% M1AD
200 + 0.4 = 500, 500 + 200 = 700 incorrect method MOAD
AQA GSCE - Tuesday 13 June 2017 - Paper 3 (Calculator) Higher Tier
97.
2 720001 2 x 700 Mt | O
3 5 Accept use of 0.66... or 0.67
480 or 420 Ad
900 Ad Ignore fw
8(a) Additional Guidance
900 with no working M1A1A
900 out of 1420 or 900 (ignore fw) M1ATAT
1420 9
480 (480 boys out of 720) or 420 (420 girls out of 1420 students) M1A1AD
720 y 1220 " 9




Alternative method 1

720 + 700 or 1420 oe
or 720 + 700 - their 900 M1
or 520
520 26 oe fraction, decimal or percentage
22 or 22
1420 71 0.36(6...) or 0.37
Atlft | 36.6...)% or 3T%
ft their part (a)
Ignore fw
Alternative method 2
720 + 700 or 1420 oe
Dr% x 720 or 240
M1
or % = 700 or 280
9(b) or 240 + 280 or 520
520 26 oe fraction, decimal or percentage
2 o =22
1420 71 A1 0.36(6...) or 0.37
36.(6...)% or 3T%
Ignore fw
Alternative method 3
720+ 700 or 1420 oe fraction, decimal or percentage
a00 45 0.63... or 0.83
or —— or —
1420 ™ M1 63.(...)% or 63%
their 900
1420
520 26 oe fraction, decimal or percentage
2 ar 22
1420 71 0.36(6...) or 0.37
Alft | 36.6...)0% or 3T%
ft their part (a)
Ignore fw
Additional Guidance
8(b)
cont | 520 . . _
—— followed by incorrect simplification of fraction M1A1

1420




AQA GSCE - Sample Paper 1 (Non - Calculator) Higher Tier

98.

0.16 +0.24 + 0.16 + 0.24 M1

14(a) or 0.8{0)
0.2 Al oe

14(b) 0.4(0) B1
Alternative method 1
4 =016 or oe

M1

1 number « 0.04
25 Al os

14(c) Alternative method 2
024 4 or 6 or oe
0.16 M1 Attempt to work out how many prime
theit £ 4 o 5 numbers in the range 361 < n < 390 or

016 421 £ n <450 or 331 < n <360

25 Al

AQA GSCE - Sample Paper 2 (Calculator) Higher Tier

99.
Two of % % % oe fraction, decimal, percentage
7(a) B2 B! Oneof o 22 3% \ith at most
50 100 150
one incorrect answer
Chooses their probability from the Must have two probabilities in (a)
larger number of trials
7(b) , , B1ft
and reason given that more trials are
involved

AQA GSCE - Sample Paper 3 (Calculator) Higher Tier

100.




9+3x+x-5+2x

or 6x+4

or Ax+tx-5+2x
or Bx-5

M1

oe

their (6x + 4) = 100
or their6x-5 =91
or 6x =96

M1

oe

9

their (6x + 4)

9

100

x=16

Al

11
100

B1it

ft their 16

AQA GSCE - Sample Paper 3 (Calculator) Higher Tier

101.

22

g
27

denominator 22

18
or — or fraction with

M1

g 8 72

— % — of — o

2r 22 504
18 7 126
b o

—_ O —

27 22 504

M1

T2 . 128 198
their — + their — or —
o4 504 a4

Midep

oE

dep on 2nd M1

Clear indication that Eanu:i 2 are
584 27

equivalent fractions

Al




